Fifth Grade * Common Core Mathematics

Domain &

Domain Target Cluster Target Standard Standard Learning Target A Specific Example ONE Example of Assessment
Operations & Algebra * Operations & Algebra * Operations & Algebra * Operations & Algebra * Operations & Algebra * Operations & Algebra * Operations & Algebra * Operations & Algebra *
I can use and evaluate parentheses in numerical 2% (3 +6) Simplify the following expression
expressions. 5(5-2)+3(1+3)
5.0A-1. Use parentheses, brackets, or braces - - ; . . -
: X ) I can wuse and evaluate brackets in numerical Simplify the following expression
5.0A-1 |in numerical expressions, and . 2X[(3+6)x(4+2)]
; . expressions. 2x[(3+6)x (4 +2)]
evaluate expressions with these symbols. Simplify the following expression
I can use and evaluate braces in numerical expressions. |2 x {[(3 + 6) x (4 + 2)] + (3x9)} 2 x {[(3+6)x (4+2)]+ (3x9)}
5.0A-2. Write simple expressions that record
I can write and explain calculations with numbers, and interpret I can change a simple word expression into mathematical|"twice the sum of 8 and 7" can be|Write the expression for add 8 and 7 and then
numerical expressions. nr:JmericaI expressions without evaluating expression. written as 2 x (8+7). multiply by 2.
them.
5. 0A-2 For example, express the calculation “add 8
' and 7, then multiply by 2”as 2 x (8 + 7). ] )
Rgcognize that 3 x (18932 + 921)_ is three I can explain the relationship between two number Explam whly 3 x (189339;292:)9';13 How many times larger is 3(35 + 57) than
I can explain numeric times as large as 18932 + 921, without expressions without calculating the answers. imes as large as ( ) (35 + 57)?
patterns with having to calculate the indicated sum or without calculating the answers.
expressions and product.
ordered pairs of Generate numbers from the following
numbers and graph . I can generate two numerical patterns using two given|rules:
these on a coordinate 5.0A-3. Generate two numerical patterns rules. Rule 1: "Start with 0 and add 3" Create a table of numbers where the first
plane. using two given rules. Identify apparent Rule 2: "Start with 0 and add 6" column starts with 0 and adds 2 and the
relationships between corresponding terms. ] o ] second column starts with 0 and adds 5.
Form ordered pairs consisting of I can form ordered pairs consisting of corresponding (0,0); (3,6): (6,12); (9,18); ...
corresponding terms from the two patterns, |terms from the 2 patterns.
I can form ordered ) -
) and graph the ordered pairs on a coordinate |
pairs of numbers from lane Py
numerical patterns and| 5.0A-3 p : ]

graph these on a graph
(coordinate plane).

For example, given the rule "Add 3” and the
starting number 0, and given the rule "Add 6”
and the starting number 0, generate terms in
the resulting sequences, and observe that the
terms in one sequence are twice the
corresponding terms in the other sequence.
Explain informally why this is so.

I can graph the ordered pairs on a coordinate plane.

»
>

Graph the pairs of numbers from the table
above on a coordinate graph.

I can identify relationships between the numbers on the
graph.

"The second numbers are always
twice the first number because the
amount the second number increases
is twice as much as the first.

What is the rule that First |Second
given a number in the g 2
"first" column will create 2 12
the matching number in 6 18
the "second" column. 8 24

Number Base Ten *

Number Base Ten *

Number Base Ten

* *

Number Base Ten

Number Base Ten

* *

Number Base Ten

Number Base Ten

¥ Number Base Ten *

*

Number Base Ten Number Base
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5.NBT-1

5.NBT-1. Recognize that in a multi-digit
number, a digit in one place represents

10 times as much as it represents in the place
to its right and 1/10 of

what it represents in the place to its left.

I can look at a multi-digit number and determine that the
digit to the left is 10 times greater than a given digit.

In a number such as 555, the "5" in
the hundreds column has a value 10
times greater than the "5" in the tens
column.

In the number 552, how many times larger is
the value of the red 5 than the black 5?

I can determine that in a multi-digit number, a digit to
the right is 1/10 of the given digit.

In a number such as 555, the "5" in
the ones column has a value 1/10 as
great than the "5" in the tens
column.

In the number 552, what fractional part is the
value of the black 5 compared to the red 5?
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Domain Target Cluster Target

I can explain place
value in our number
system and how it
relates to arithmetic of
whole numbers,
decimals, and
rounding.

Domain &
Standard

Standard

Learning Target

A Specific Example

ONE Example of Assessment

5.NBT-2. Explain patterns in the number of
zeros of the product when multiplying a
number by powers of 10, and explain patterns

I can explain that when a number is multiplied by a
power of 10, the answer can be found by moving the
decimal point to the right (or adding zeros) for each
power of 10 to make the number bigger.

1000 x 23.4 is 23,400
OR

10% x 23.4 is 23,400

Compute the value of 10° x 23.4

I can explain place >-NBT-2 Lnez?iaﬁlfscimft?glgdtgi Sie\:/(izljngzlbpyo:tp:x::oaf I can explain that when a number is divided by a power 234 = 100 is 2.34 Explain how you might find the answer to 234
value in our number 10. Use whole-number exponents to denote of 10, the answer can be found by moving the decimal OR + 100 without actually computing the division
system and how : P point to the left one place for each power of 10 to make 5. problem. (i.e. explain a shortcut to finding
powers of 10. 234 - 107 is 2.34
powers of 10 are used the number smaller. the answer)
:1“ mlfltipliczti:n,_ | 5.NBT-3. Read, write, and compare decimals |1 can correctly read decimal numbers to the thousandths|12.345 is read "twelve and three
Ivision, an ecimails. to thousandths. - "
! place. hundred forty five thousandths™. Write the number 12.345 with correct number
I can also round 5 NBT-3a a. Read and write decimals to thousandths I can write decimals to the thousandths using expanded 12.345 =104 2 + .3 + .04 + .005 names and with base ten numerals.
numbers and explain ) using base-ten numerals, number names, and |form. ) - ’ ) ’
the reasoning (nOt jUSt expanded form, e.g., 347.392 =3 x 100 + 4 . . | 12.345=1x 10+ 2 X 1 + 3 x
a rule). x (110/;035) 143 % (1/10) + 9 x (1/100) + 2 ilf;zr‘;”lrs'te decimals to the thousandths using base ten| y gy L 4y (1/100) + 5 x Write the number 5.34 in expanded form.
X .
: (1/1000).
5.NBT-3. Read, write, and compare decimals
to thousandths.
. I can compare decimals based on the value of the digits 38.279 < 38.415 be_cause the 4 in Using the different place value information,
5.NBT-3b |b. Compare two decimals to thousandths - the tenths column gives the second ; )
based on meanings of the digits in each place and record the answer using <, >, and = symbols. number a higher value explain why 2.09 is smaller than 2.1.
using >, =, and < symbols to record the
results of comparisons.
Rounding 2.37 to the nearest tenth |What two numbers is 3.2 between?
5 NBT-4 5.NBT-4. Use place value understanding to I can round decimals to anv aiven place value means knowing it is located between |A. 3.20 & 3.21
' round decimals to any place. v P ’ 2.3 and 2.4 on the number line and |B. 3.1 & 3.2
it's closer to 2.4. C. 3.1&3.3
23
X 45
5 NBT-5 5.NBT-5. Fluently multiply multi-digit whole I can ACCURATELY and without outside aids, multiply 115 Compute 23 X 45
’ numbers using the standard algorithm. multi-digit whole numbers. P ’
1035
) ) John says that to divide 315 by 15 he first
5.NBT-6. Find whole-number quotients of I can divide up to a 4 digit dividend by a 2 digit divisor| EXP1ain how to divide 315 by 15 by a divides 15 into the last two digits of 315 (15)
I can perform whole numbers with up to four-digit dividends | * = ° P 9 y g method other than the standard which is one and then since 15 doesn't divide
operations with multi- and two-digit divisors, using strategies based |USing a variety of strategies. algorithm. into 3 you put a zero so the answer is 10 r 3.
digit whole numbers 5.NBT-6. |O" place value, the properties of operations, Explain why you agree or disagree.
and with decimals to ' " |and/or the relationship between multiplication
hundredths. and division. Illustrate and explain the . i o . 15 135+ 15=9 .
calculation by using equations, rectangular I can illustrate and explain division using rectangular as illustrated by Draw an area model that would illustrate 315
I am fluent in arrays, and/or area models. arrays or area models. ° this area model. +15=21.
multiplication.
ze'\clﬁ:aTs gdﬂhiz:);:jat;ts’ nJ;JiI;|pIZé:£\rcéti|V|de I can compute with decimals to hundredths in a variety|Show at least two ways to multiply Explain how vou would add 3 + 2.74 + 8.6
models or drawings and, stratgegies based on of ways. 23 x 4.76. P Y . -
5.NBT-7 |place value, properties of operations, and/or

the relationship between addition and
subtraction; relate the strategy to a written
method and explain the reasoning used.

I can explain how my strategy works and the reasoning I
used to solve the decimal problem.

Explain how many decimal places are
in the answers to 2.4 + 5.3 and 2.4 x
5.3 and why it may be different.

Use the grid at the right
to model 0.7 x 0.4.
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Domain Target

Number and Operations- Fractions

print date 9/21/12

Cluster Target

&3 Num

Domain &
Standard

Standard

Learning Target

A Specific Example

ONE Example of Assessment

ber and Opegations- Fractions

*
.NF-1. Add and subtract fractions with unlike

denominators (including mixed
numbers) by replacing given fractions with
equivalent fractions in such a way as to

Number and Operations Fractions &

I can add fractions with unlike denominators by replacing
the given fraction with equivalent fractions.

Number and Operations Fractions &

2/3 +5/4 =8/12 + 15/12 = 23/12

Number and Operations Fractions &

Add 2/3 and 5/4

5.NF-1 |produce an equivalent sum or difference of
fractions with like denominators. . . . .
For example, 2/3 + 5/4 = 8/12 + 15/12 = ! caln S.“bttht f.raCt'cf’”s t".‘”th “.';r']'ke d?”cl’m't”?torts. by 4/5 - 1/2 = 8/10 - 5/10 = 3/10 Subtract 1/2 from 4/5.
I can solve real world 23/12. (In general, a/b + c/d = (ad + replacing the given fraction with equivalent fractions.
problems involving the hel/hd )
addition and 5.NF-2. Solve word problems involving I can solve word problems involving addition of fractions|Draw a picture to solve the problem |Explain how to use the
subtraction of fraction addition and subtraction of fractions referring |with like/unlike denominators by using a visual fraction|of how much pizza there would be if |model shown to add
with unlike to the same whole, including cases of unlike |model. we combine 1/2 pizza with 1/3. 5/12 and 1/4.
denominators. denominators, €9+ by using visual fraction . ) ! . " What subtraction problem is shown on the
models or equations to represent the I can solve word problems involving subtraction of|Johns paper strip is 7/8" long and fraction model shown?
5.NF-2 |problem. Use benchmark fractions and fractions with like/unlike denominators by using a visual|Sue's is 3/4" long. Whose is longer I i I 1
number sense of fractions to estimate fraction model. and by how much? I - } o } 1 I - } - } 1 } I } o i
mentally and assess the reasonableness of
answers. i i I can use benchmark fractions and general number sense|Explain why adding 2/5 and 1/2 to Is the sum of 3/5 and 7/16 going to be
For example, recognize Ian incorrect result 2/5 to estimate if an answer makes sense. get 3/7 does not make sense. greater than or less than one?
+ 1/2 = 3/7, by observing that 3/7 < 1/2.
5.NF-3. Interpret a fraction as division of the
numerator by the denominator (a/b = a + b). Interpret 3/4 as the result of dividing
Solve word problem§ involving d|V|§|on of I can explain how a fraction represents the division of the 3 by 4, noting that 3/4 multiplied by . . . .
whole numbers leading to answers in the form . 4 equals 3, and that when 3 wholes |Change 3/4 into its decimal equivalent.
) ) ] numerator by the denominator.
of fractions or mixed numbers, e.g., by using are shared equally among 4 people
visual fraction models or equations to each person has a share of size 3/4
represent the problem.
5.NF-3 For example, interpret 3/4 as the result of
’ dividing 3 by 4, noting that 3/4 multiplied by If 9 people want to share a 50-pound
4 equals 3, and that when 3 wholes are sack of rice equally by weight, how
shared equally among 4 people each person |1 can solve word problems involving division of whole many pounds of rice should each If 9 people want to share a 50-pound sack of
has a share of size 3/4. If 9 people want to |numbers where the quotient is a fraction or mixed person get? rice equally by weight, how many pounds of
share a 50-pound sack of rice equally by number by using visual models or equations. rice should each person get?
weight, how many pounds of rice should each Between what two whole numbers
person get? Between what two whole does your answer lie?
numbers does your answer lie?
5.NF-4. Apply and extend previous
understandings of multiplication to multiply a ) N ) (2/3) x 12 means to take 12 and Explain how the model
fraction or whole number by a fraction. L can explain how a fraction times a whole number is divide it into thirds (1/3 of 12 is 4) |shown can be used to @ @
dividing the whole into parts and taking a certain number .
and take two of the parts (2 x 4 is solve 4 x 2/3 and what
a. Interpret the product (a/b) x q as a parts |Of them. 8). So(2/3)x 12 =8 the answer is.
of a partition of q into b equal parts;
5.NF-4a |equivalently, as the result of a sequence of

operations a x q + b.

For example, use a visual fraction model to
show (2/3) x 4 = 8/3, and create a story
context for this equation. Do the same with
(2/3) x (4/5) = 8/15. (In general, (a/b) x
(¢/d) = ac/bd.)

I can multiply a fraction times a fraction.

(2/3) x (4/5) means to take (4/5)
and divide it into thirds (1/3 of 4/5 is
4/15) and take two of the parts (2 x
4/15 is 8/15). So (2/3) x (4/5) =
(8/15). Similarly (2/3) x (4/5) =
(2x4)/(3x5) = (8/15).

Compute 2/3 x 4/5.
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Domain Target Cluster Target

I can use and explain
how to do arithmetic
with fractions.

print date 9/21/12

I can multiply and
divide fractions.

Domain &
Standard

Standard

Learning Target

A Specific Example

ONE Example of Assessment

5.NF-4. Apply and extend previous
understandings of multiplication to multiply a
fraction or whole number by a fraction.

b. Find the area of a rectangle with fractional
side lengths by tiling it with unit squares of

I can find the area of a rectangle with fractional sides by

tiling it with fractional unit squares.

1 1
The area|What is the area
1 is (91/4)|of the unshaded |
3 = or|part of the 3 =
2 22 3/4.|rectangle? 2

5.NF-4b [ = 1/4 of a square unit [ = 1/4 of a square unit
' the appropriate unit fraction side lengths, and
show that the area is the same as would be
found by multiplying the side lengths. Multiply What is the 3
fractional side lengths to find areas of I can find the area of a rectangle with fractional sides by 1 3 ;hs/;rea is 63/8 Qtr area of the 1=
. . - - square units
rectangles, and represent fraction products as | multiplying the side lengths. 4 a rectangle? 4
rectangular areas. 1 4 1
45 2
2
5.NF-5. Interpret multiplication as scaling
(resizing), by: The effect of multiplying 7 by 3 will John Yvants to enlarge
make a product larger than 7 or the triangle by a factor 5 3
5.NF-5a a. Comparing the size of a product to the size |I can explain scaling. P ) g. . of 3. What will the sides
. ) more accurately it will be triple the
of one factor on the basis of the size of the size of 7 measure on the new
other factor, without performing the indicated ' triangle? 6
multiplication.
5.NF-5. Interpret multiplication as scaling N [ Which of the following when multiplied
. . . . Multiplying 3 x 2— will make a
(resizing), by: I can explain how to multiply a given number and make 2 1
it smaller. by 2— will give an product (answer) less
L o ) product larger than 3. 2
b. Explaining why multiplying a given number 1
by a fraction greater than 1 results in a 3 than 25 ?
product greater than the given number I can explain how to multiply a given number and make Multiplying 3 x — will make a
5.NF-5b |(recognizing multiplication by whole numbers |. P pyag 4 A. 2/3 B. 1
. L. it larger. 1
greater than 1 as a familiar case); explaining product smaller than 3. 2
why multiplying a given number by a fraction C. 2 D. 2
less than 1 results in a product smaller than Multiplying by one does not change a
the given number; and relating the principle |I can generate equivalent fractions by multiplying by number so multiplying 3/4 by 2/2 or |Explain why multiplying 2/3 by 5/5 does not
of fraction equivalence a/b = (nxa)/(nxb) to |various versions of one. (2/2, 3/3,...n/n) 3/3 or n/n creates equivalent forms |change the value of the fraction.
the effect of multiplying a/b by 1. of 3/4.
S'NF._6Z Sqlve real wqud problems involving . ’ R Decide how many pizzas need to be |How many pizzas need to be purchased if
multiplication of fractions and mixed numbers,|I can solve real world problems involving multiplication of| ; ; K )
5.NF-6 ] . ’ . . purchased if each person will eat 1/5 |each person will eat 1/5 of a pizza and there
e.g., by using visual fraction models or fractions and mixed numbers. )
X of a pizza and there are 12 people. |are 12 people.
equations to represent the problem.
5.NF-7. Apply and extend previous
understandings of division to divide unit
fractions by whple numbers and whole Create a story context for (1/3) + 4,
numbers by unit fractions. [1] . h
and use a visual fraction model to
a. Interpret division of a unit fraction by a non-I can explain the meaning and process of dividing of a show the quotient. Write a real-world problem where the solution
5.NF-7a zero whole number, and compute such p 9 p 9 involves taking 1/3 and dividing it by 4 and

quotients.

For example, create a story context for (1/3)
+ 4, and use a visual fraction model to show
the quotient. Use the relationship between
multiplication and division to explain that

(1/3) + 4 = 1/12 because (1/12) x 4 = 1/3.

unit fraction by a non-zero whole number.

Use the relationship between
multiplication and division to explain
that (1/3) + 4 = 1/12 because
(1/12) x 4 = 1/3

then state the solution.
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Domain Target Cluster Target

Domain &
Standard

Standard

Learning Target

A Specific Example

ONE Example of Assessment

5.NF-7. Apply and extend previous
understandings of division to divide unit
fractions by whole numbers and whole
numbers by unit fractions. [1]

b. Interpret division of a whole number by a

I can explain the meaning and process of dividing a

Create a story context for 4 + (1/5),
and use a visual fraction model to
show the quotient.

Write a real-world problem where the solution

>NF-7b unit fraction, and compute such quotients. whole number by a unit fraction. Use the relationship between involves taking 4 an.d dividing it by 1/5 and
. S . . |then state the solution.
For example, create a story context for 4 + multiplication and division to explain
(1/5), and use a visual fraction model to show that 4 + (1/5) = 20 because 20 x
the quotient. Use the relationship between (1/5) = 4.
multiplication and division to explain that 4 +
(1/5) = 20 because 20 x (1/5) = 4.
5.NF-7. Apply and extend previous
understandings of division to divide unit ) ) ] )
fractions by whole numbers and whole I can solve real world problems involving division of unit How. much chocolate will each person|How much pizza WI|.| each student get if 5 of
numbers by unit fractions. [1] fractions by non-zero whole numbers. get if 3 people share 1/2 Ib of them sharg half a plzz.a? Draw a model to
chocolate equally? help explain the solution.
c. Solve real world problems involving division
5. NF-7c of unit fractions by non-zero whole numbers

and division of whole numbers by unit
fractions, e.g., by using visual fraction models
and equations to represent the problem.

For example, how much chocolate will each
person get if 3 people share 1/2 Ib of
chocolate equally? How many 1/3-cup
servings are in 2 cups of raisins?

I can solve real world problems involving division of
whole numbers by unit fractions.

How many 1/3-cup servings are in 2
cups of raisins?

The recipe calls for 1/3 cup of flour. If Bob
has 2 cups of flour all together, how many
times can he repeat the recipe?

Measurement & Data

and solve problems
with this data.

For example, given different measurements of|
liquid in identical beakers, find the amount of
liquid each beaker would contain if the total
amount in all the beakers were redistributed

* Measurement & Data * Measurement & Data * Measurement & Data * Measurement & Data * Measurement & Data * Measurement & Data * Measurement & Data * Measurement
5.MD-1. Convert among different-sized
I can change to standard measurement units within a given I can solve multi-step, real world problems involving Convert 3.5 meters to cm. John has a board measuring 5 1/2 feet long.
different size units 5.MD-1 measurement system (e.g., convert 5 cm to measurement ! How many smaller boards each with a length
within a measurement 0.05 m), and use these conversions in solving ' Convert 40 pints to gallons. of 10 inches can he make from this board?
system. multi-step, real world problems.
5.MD-2. Make a line plot to display a data set Measure the head circumference of . .
of measurements in f_ractions of a.unit (1/2'_ I can make a line plot (dot plot) to display a set of all the students to the nearest 1/4 Cre?te a I|r.1e ph?t f'rom t.he foIIc.)wmg. d?ta: .
A 1/4, 1/8). Use operat|0n§ on fr.actl.ons for tI"ns fractional data. inch and display the results on a line 1/2; 11/2; 3/4; 1;1/2; 1 1/4; 3/4; 1; 3/4;
I can create a line plot grade to solve problems involving information plot (dot plot). 3/4; 1; 3/4; 1 1/4.
with fractional scales 5.MD-2 presented in line plots.

equally.

I can use grade level fraction operations to solve
problems involving information from a line plot (dot
plot).

Given different measurements of
liquid in identical beakers, find the
amount of liquid each beaker would
contain if the total amount in all the
beakers were redistributed equally.

Three beakers hold 31/4 ml, 2 1/4 ml, and 1
1/2 ml. How much would each beaker contain
if we distributed the liquid equally in each
beaker?
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Domain Target Cluster Target

I can explain how the
units used in
measurement relate
and change depending
on their size.

I can display data with
a line plot and solve
problems involving
area.

I can explain the
concept of volume and
how it is measured.

I can solve problems
involving volume.

Domain &
Standard

Standard

Learning Target

A Specific Example

ONE Example of Assessment

5.MD-3. Recognize volume as an attribute of
solid figures and understand concepts of
volume measurement.

I can explain that volume is an attribute of solid figures
and not plane figures.

The "squares" used to measure area
are different than the "cubes" needed
to measure volume.

What is the term used to find the space
contained inside a container?

>.MD-3a . ) } Which of the following might be the volume of
a. A cube with side length 1 unit, called a . . . " e . .
. " ) “ ) e I can explain that volume is measured in "unit cubes" - |Solid figures need a solid unit, a a box?
unit cube,” is said to have “one cubic unit” of - ; . .
cubes of one unit on each side. cube, to measure volume. A. 8in. B. 8 square in.
volume, and can be used to measure volume. . . .
C. 8 cubiciin. D. 8 triangle in.
5.MD-3. Recognize volume as an attribute of
solid figures and understand concepts of Have students explain the concept of )
volume measurement. . e . . . How many cubes measuring 1 cm on each
I can explain that the volume of a solid figure is cubes filling a space and possibly ; e .
5.MD-3b ; " " - X side will fit into a box measuring 3 cm by 8
. . ) measured in the number of "cubes" it contains. comparing that to area where
b. A solid figure which can be packed without h cm by 12 cm?
) ; - ) squares fill a plane.
gaps or overlaps using n unit cubes is said to
have a volume of n cubic units.
>.MD-4. IYIeasure_ volumes py.countmg unit I can measure volumes by counting unit cubes of various F_'” a rectangular prism with various Sue found she could put exactly 40 one inch
5.MD-4 |cubes, using cubic cm, cubic in, . sized cubes and have students count . .
) . ) ; sizes. . cubes in a box. What is its volume?
cubic ft, and improvised units. them to estimate the volume.
5.MD-5. Relate volume to the operations of
multiplication and addition and solve real Students should experience filling a
world and mathematical problems involving I can find the volume of a right rectangular prism with rectaqgular prism with cubes, . Sue found she could put exactly 40 one inch
volume. . L R counting these cubes, and relating X s
whole-number sides by packing it with unit cubes. : cubes in a box. What is its volume?
this number to the volume of the
a. Find the volume of a right rectangular prism.
5.MD-5a prism with whole-number side lengths by
' packing it with unit cubes, and show that the
volume is the same as would be found by Students should discover the efficient
multiplying the edge lengths, equivalently b i i i i i i ) .

_p y' g g g q y by |I can find the vo_lume of a rn_::|ht _rectangular pr|sm with way of countm.g the cubes |n.a. What is the volume of the rectangular prism
multiplying the height by the area of the whole-number sides by multiplying (length) x (width) x |rectangular prism by generalizing the that measures 23 cm by 10 cm by 18 cm?
base. Represent threefold whole-number (height). short cut of multiplying the three 4 4 '
products as volumes, e.g., to represent the dimensions.
associative property of multiplication.

5.MD-5. Relate volume to the operations of
multiplication and addition and solve real
world and mathematical problems involving
volume. Students can explain and apply the |Bill found that he could put exactly 14 one
5.MD-5b I can solve real world volume problems by using the conventional formulas to find centimeter cubes to cover the bottom of a
' b. Apply the formulas V =1 x w x h.and V = |conventional formulas of V=1ew ehandV =B e h. volumes of rectangular prisms in a box. If the box is 7 cm high, how many one
b x h for rectangular prisms to find volumes real world problem setting. centimeter cubes will the box hold in all?
of right rectangular prisms with whole number
edge lengths in the context of solving real
world and mathematical problems.
5.MD-5. Relate volume to the operations of Find the total volume 2
multiplication and addition and solve real of the two boxes. 4Z7
world and mathematical problems involving ; 5
volume.
I can find the volume of a solid figure composed of right |Have students create a new shape by 3 |
5.MD-5c¢ c. Recognize volume as additive. Find volumes|rectangular prisms by adding the volumes of each putting 2 or more "boxes" together !
of solid figures composed of two non- rectangular prism. and then find the total volume. :
overlapping right rectangular prisms by 4 e L
adding the volumes of the non-overlapping ’," /
parts, applying this technique to solve real d

world problems.
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Domain Target Cluster Target Z:;Z’:rs Standard Learning Target A Specific Example ONE Example of Assessment
Geometry * Geometry * Geometry * Geometry * Geometry * Geometry * Geometry * Geometry * Geometry * Geometry * Geometry * Geometry * Geometry * Geometry * Geometr

5.G-1. Use a pair of perpendicular number
lines, called axes, to define a coordinate
system, with the intersection of the lines (the
origin) arranged to coincide with the 0 on
each line and a given point in the plane
located by using an ordered pair of numbers,
called its coordinates. Understand that the

I can create a coordinate plane and label all the parts.

Have the student label and explain
the parts of the coordinate plane.

Label the axis and
the center of the
coordinate plane
shown.

I can explain how each number in an ordered pair effects

Explain how the first number effects
the direction (right/left) and distance

Starting at the origin, explain the direction

shapes to classify them
into categories.

For example, all rectangles have four right
angles and squares are rectangles, so all
squares have four right angles.

must have the same attributes.

squares have four right angles.

. >G-1 first number indicates how far to travel from |the direction and distance of the point. from the origin. Repeat for second and distance you would move to plot the point
I can graph points on a I S X : (4, 7).
: the origin in the direction of one axis, and the number of ordered pair.
coordinate plane to . )
I can graph on the solve real-world second number indicates how far to travel in
coortclh|_na_tefpIanet_andt problems. the diref:tionhof tr;]e second a::(isr,] with the The student should be able to plot an gﬁ(tjvavli'l:glitr)jle:(?
use this information to convention that the names of the two axes I can create, plot, and label ordered pairs of numbers on |ordered pair AND when pointingtoa | _.
solve real-world and the coordinates correspond (e.g., X-axis | an coordinate plane. location, state the ordered pair that pairs on the graph
problems. and x-coordinate, y-axis and y-coordinate). names it. shown.
(3, 5); (2, 7); (6, 10)
I can explain the 5.G-2. R t real world and mathematical
attributes of a category : t;l . e[l))resen r:'ea WO_Ft a'n t?af' etrna “ John's house is located at the origin of a
of shapes problems by grap |ng.pom s In the 1irs I can graph and interpret coordinate pairs of numbers Students should be able to play . - 9 L
5.G-2 quadrant of the coordinate plane, and and relate them to real world math problems games/activities like "Battle Ship” coordinate plane. Label his school which is 5
interpret coordinate values of points in the ' ' blocks east and 8 blocks north.
context of the situation.
5.G-3. Understand that attributes belonging
Eoelir::atteogg[lyszft)i\g?e;dé:?::i?:ﬁ;tﬂg:tfsoilso I can determine attributes about a category of 2- All rectangles have four right angles Ifavrvaelsllejlzoivaﬁztailtlj re:rt:ITglfsr:ﬁs have
I can use properties of |5.G-3 g 9 gory. dimensional figures and explain that the sub-categories |and squares are rectangles, so all P 9 P 9

opposite sides parallel, what can we conclude
about rectangles?

5.G-4

5.G-4. Classify two-dimensional figures in a
hierarchy based on properties.

I can explain the hierarchy of a class of two-dimensional
figures based on properties.

Quadrilaterals --> Parallelograms -->
Rectangles --> Squares

Name the three groups of quadrilaterals that a
square belongs to.
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[1] 1Students able to multiply fractions in general can develop strategies to divide fractions
in general, by reasoning about the relationship between multiplication and

division. But division of a fraction by a fraction

is not a requirement at this grade
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